Artificial Intelligence
Assignment #4
Practice with Prolog
Strawberry Prolog can be downloaded for FREE at: http://www.dobrev.com/.
1. Write a PROLOG program that implements a family database for your family. Save it as an ordinary text file named family.pro. Your program should implement the following facts for your immediate family, grandparents, and great-grandparents. 

parent_of(X,Y).

male(X).

female(Y).
That is, your database should consist of a number of facts about who is the parent_of of who, about which individuals are male and about which individuals are female. For example: 

parent_of(joe,susie).

parent_of(joe,dan).

parent_of(mary,susie).

parent_of(mary,dan).

male(dan).

male(joe).

female(susie).

female(mary).

All other predicates should be implemented as rules -- i.e., as predicates involving variables and logical implication (:-). For example, the rules for father_of and daughter_of would be: 

father_of(X,Y) :- parent_of(X,Y),male(X).

daughter_of(X,Y) :- parent_of(Y,X),female(X).

Define the following predicates for your database. Your database should be rich enough to test all of these predicates. For example, if you are only child, you may have to make up fictitious siblings to test the sibling_of predicate. 
predicate           interpretation

---------           --------------

father_of(X,Y)      X is the father of Y

mother_of(X,Y)      X is the mother of Y

son_of(X,Y)         X is the son of Y

daughter_of(X,Y)     X is the daughter of Y

sibling_of(X,Y)     X is the sibling of Y

brother_of(X,Y)     X is the brother of Y

sister_of(X,Y)      X is the sister of Y

grandparent_of(X,Y) X is the grandparent of Y

ancestor_of(X,Y)    X is the ancestor of Y
Some of these predicates may be defined in terms of other predicates. For example, a sister is a female sibling and a grandparent is the parent of a parent. The ancestor_of predicate can be defined recursively to handle ancestors from any generation. 

